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N
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 3.2.2 ��
���������$�"%�"���
��
���� �
! � (Accident Severity)  
                 3.2.2.1 ���������� �5��

�����1���� (A Fatal Accident) ��$������1�������
!������65!�� 
                 3.2.2.2 ���������� �5��

��
���S��
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!
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                 3.2.2.3 ���������� �5��
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���S��%S
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!������65!��"��;����$���
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���"%�����1���� 
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�)
���"%� ��)�&����35�;�������
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       3.3.1 ������&�'��������� �
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���������������
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3.4 �"�A������%�"��(����������
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! ��������"�� 
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       3.4.1 �(������
�����%'�"������D�A  
     "��!��
��9� 5 ������������
���3� 
                 3.4.1.1 ���?L'�������!�������$@��AM��
M�� (Emergency Medical Services 
Costs !�P� EMS)  
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�") �&_�
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 ) 
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                 F  =  n
iP )1( +                                                ��

� �5 3.2   
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$���k�����
 (Intensive Care Unit ���� ICU) 

"$�
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    2ˆln 7.808841 0.037084 0.000423Wage AGE AGE= + −  ��

� �5 3.25 
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3.6 ��������=��(����������
���������� �
! ��������"����"!��
�"%(� @.R. 2547  
 

      3.6.1 ������!�
��(����������
���������
��
%;<�������� �
! ������    
               ��
�������� �5�
��#6/� �/! 3 
%�����!
%�
� �
�
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��';���
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%����%�
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� �5 3.29 Z6!��
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